[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

G

TTTITTIT
4

[oe]

Ratio
o [
© E = O
— 1 :

107 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

Efficiend —— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

= €
o
N

o
©

o
]

0.5

efficiency vs vert z
o
(o]

0.4

0.3

0.2

0.1

Ratio

=30 -20 -10 10 20 30

[
L []
TTTTTTTT

Ratio

iy

o
©
TTT

|
N
o
|
=
[é)]
|

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


